


2.3 F
R = F[X]
Ry = F[X?, X3

X8 = (x2)3 = (x3)?






af € (x) a € (x) G € (x)
aff = xvy a = x0 3=z



3.1. Prolog
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Table 1
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Table 2
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1 3 3
2 9 3
3 27 8
4 81 18
5 243 48
6 729 116
1092 196




3.3.

Table 3
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Table 4

() ()
2 3 3
3 9 9
4 27 21
5 81 54
6 243 139
363 226
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Table 5
X6 — (X2)3 — (XB)Z
X0+1 = (X?+1)(X*+X°+1) = (X3+1)°
X6 + X4 — (XZ)Z(XZ + 1) — (X3 + X2)2
X6 _|_X5 — XZ(X4 + XB) — XS(XB +X2)

X+ X+ X3+ X2 = (X2+ D)X+ X3+ X% = (X3+1)(X3+X?)



X6

X0 +2

X +2x4
XO+2X%+ X% +2

X0+ X°

XO+ X°+2X3+ X%2+1
X0+ X°+2X3+2X7?
X0+ X°+ x4

X0+ X°+ X4 +2X3+ X?
X0 +2Xx°
XO+2X°+ X3+ X%2+1
X0+ 2X°+ X3+ 2X°2

X0 +2X°+ X4

X0 +2X°+ X4+ X3+ X2

Table 6

(X)X (X?)

(X2 +2)(X*+2)(X*+2)
(X)(XH)(X*+2)

(X2 +2)(X*+1)
(X*)(X* + X°)

(X2 +2)(X*+ X3+ X°+2)
(X% +2)(X*+ X3+ X?)
(XZ)(X4 + XS + XZ)

(X2 +2)(X*+ X3+ 2X?)
(X°)(X* +2X7)
(X2+2)(X*+2X3+ X°+2)
(X2 +2)(X*+2X3+ X?)
(X)(X*+2X3 + X?)

(X2 +2)(X*+2X3+2X?)

(X°)(X®)

(X°+1)(X°+2)

(X3 + X?)(X3+2X7?)

(XP+ X2+ 1)(X3+2X2+2)
(X)(X° + X?)
(X2+1)(X3+ X°+1)
(X°+2)(X° + X?)

(X3 +2X?) (X3 +2X?)
(X3 +2X2)(X3+2X°+2)
(X)(X® +2X?)

(X3 +2)(X3+2X°+2)
(X3 +1)(X3+2X7?)

(X3 + XZ)(X3 + XZ)

(X3 + X)(X3+ X% +1)
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Lemma
feRyCR f R
a, B3 € Ry
aB € (f) (f) R a € (f)
or 8 € (f)
f=apor f=06q (p,q€R)
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fF=X*+X3c Ry X%+

X +1¢ Ry Ry
g = X? e Ry
fg=(X*+ X3)X%=((X +1)X3)X?
= (X + D)X)X3 = (X3+ X9 X3
(X3 + X?), X% e Ry

X3 = (X + 1)X3



J =/

Jih € Ry

f1¢ Ro

g € Ry



Ry=F[X% X’ C R=F[X],(F= )
f € Ry R

f=1+aX%*+--- R



f=r1nr
f1:1+b1X+...

c1 = —b1(# 0)

f(X) = AX)f(X) X X
f(=X) = fi(=X) fo(=X)

==X f=hf
J I = 11202 J1/1, J202 € Ro



f ~ p € R fufL = fo
T1=Teff
f=wh

f
_ ¥ e fo _
fofa=71v =1y

f=ofv pp =1
N

szwzl -
f=nhn
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Lemma

J1ER

(
g = J1/2 € Ry

J1ER

f2 7 f1, f1(f2
)

1= fof

R
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Lemma
f1 €R v = 111

fi=1—-aX (a Z0)
fo=1+aX + a?X?
g=fife=1-a*X3€ Ry g
99 = f1f1- faf2 = pp2
ffi=1—ad?X2% fofo=1+a?X?%+a*X?
g B f1h

faof2  Ro g

A1t



fi=l—aX+--- (a7,
fr=1+aX

9= fif2€ Ry
99 = fif1- f2f2 € Ro
v = fih

g=¢p, g=p

PPg = Pp2, P2 = Py,
02 = fofs, @2 =1—a’X?
g 3 //

2

)



99 = fufifofs
J = J1J1 € Ry

f=fifo=XP(L+aX +apX?+---) (p=2,3)
f1=XP
fo=1+a1X +apX?+--.

ff=fifr- fofo
J1f1, J202 € Ro






Table 7

2 12 3 |4 |5 |6
O 1|1 (3|49

B (2 3|4]5]9 23
01 0/]3]8]19]30

Table 8
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f=g99 (f <Ry g€E€R
N
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F=1+X2=(1+X)1-X)
F=1l+X3=(1+X)1 - X+ X?



